COMMUNICATING RESULTS TO
THE DECISION MAKERS

Lessons learned: the good, the bad and the
intractable

Ann-Marie Huang

Fisheries & Oceans Canada @



* what worked
e what didn’t work
* new things we’re trying

e intractable problem

WHY BOTHER? WHY ME?


Presenter
Presentation Notes
why listen to me?


e analogies
e having a plan B re: feedback/workplan/priorities
e send.pdfsnot .xls

WHAT WORKED



Project Purpose:

no engine = spectacular fail

fail safe

(i.e. doesn’t exist)
(...sorry...) @
4



e analogies
e having a plan B re: feedback/workplan/priorities
e send.pdfsnot .xls

WHAT WORKED



e doing the “what” without addressing the “why”
e providing too much context

e expecting people to prepare ahead of time

e notrepeating new concepts

WHAT DIDN’T WORK
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conflict resolution: position vs interest



fewer words, marbles & Dr. Suess

TRYING NEW THINGS



Old Way: Model Flow Diagram
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new way: marbles!




Old way: “what do you think?”

e as part of the end of meeting wrap-up
— what plots preferred?
— any plots you’re not enamoured with?
— etc.



NEW WAY: THOUGHTS ON PLOTS
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Performance Indicators
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Figure 9: Sample simulation results and options for Early Stuart sockeye.
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this one has the years displayed




this one has a color fade

source: psc
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WHAT A LOT OF PLOTS WE’VE
MADE!
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Some are red
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TRYING TO GET A HANDLE ON
THOSE INTRACTABLE PROBLEMS

S

T\


Presenter
Presentation Notes
probabilities: 3 out of 4 instead of 75% BUT can’t just leave it there

weighing social & economic in add’n to biological

socio-econ: tangible

one not more impt than the rest

how do we communicate the biological implications (still incl risk & uncertainty) in a way that makes sense in the same way as social and economic implications make sense?


ANY ANSWERS???
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